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1)  Simplify 69:96 2)  Simplify 69:96 3) 331g- 36/,
Answer: Answer: Answer:
4) Find perimeter of 5) 1581.7 - 2442.3 6) Find the mode of the following set of data:
sguare having each side 81,81,47,47,7,7,7, 20, 20, 20,
s (s) equals 8992 in 20, 20, 20, 194, 194, 194, 194, 194,
194
s
Answer: Answer: Answer:
7 \ 8) 18+4+11-19 9) 18+4+11-19
Name the type of angle.
Answer: Answer: Answer:
10)  2289.1+4175.8 11) Decrease 44 by %/, 12) Find area of
b rectangle having
sidesa=9975cm
a and b =8475cm
Answer: Answer: Answer:
13) Find area of 14) 'What isthe probability of rolling a 15)  Findthemeanof thefollowing set of dete:
b rectangle having even prime number.when rolling a 29, 0.6, 17
sidesa=9975cm dice
a and b =8475cm
Answer: Answer: Answer:
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Answer:

Answer:

16) 29% of 229 17) Convert thefollowing fraction into a 18) 06:53 am To 01:00 am
mixed number: 62/,5
Answer: Answer: Answer:
19) Round 10.365 to 1 decimal places. 20)  Round 15.4 to the nearest 10 21) (-1485) + 99
Answer: Answer: Answer:
22)  Anamount wasincreased by 3% to 23) 3553 - (-2385) 24) A number was shared in theratio
$277.07. Find the original amount. 82:41. The smaller share was 32.
What was the total amount shared?
Answer: Answer: Answer:
25)  Round 0.6164 to 2 decimal places. 26) (-6099) + (-9737)
Find VVolume of
Rectangular Pyramid
30
Answer: Answer: Answer:
28) 4013+ 2252 29) 131547 + 17%5 30)

Find Volume of
Cylinder

Answer:
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31) 32) 'What isthe probability of rolling a 33) 66 x 1000
38 Find Volume of number less than 2.when rolling a
_ 33 | Cylinder dice
—
Answer: Answer: Answer:
34) Convert the following fractioninto a 35) Find area of square 36) Find perimeter of
mixed number: 43127 having each side (s) square having each
s equals 9164 m s side (s) equals 3240 ft
s s
Answer: Answer: Answer:
37) Find perimeter of 38) 3Ly - 1914 39) 3267+ 7414.9
square having each
s side (s) equals 4564 ft
S
Answer: Answer: Answer:
40) Find the median of the following set of data: 41) 11/13 + 13/9 42) (-79) x (-22)
34, 27, 34, 34, 15, 40, 38, 33, 23,
36, 34, 40, 25, 30, 38, 2, 23, 19, 36,
16
Answer: Answer: Answer:

43) 2184+ (-8938)

Answer:

a4)  7222-(-1870)

Answer:

45) Find the range of the following set of data:

03,08,13,0,-9,7

Answer:
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46) Find the median of the following set of data: 47) (11 . 18) X4+15 48) Decrease 152 by 3/76
19, 20, 16, 33, 30, 10, 10, 21, 10,
32,35, 2,40,7,30,40, 40,11, 8,8
Answer: Answer: Answer:
50) 35 25-14 13/ 51) Find perimeter of
Find Volume of square having each
Rectangular Pyramid s side (s) equals 7076 cm
35
s
Answer: Answer: Answer:
52) 1430f 26 53) 130f 26 54)
Find the next three numbersin
the sequence
51,50,75,74,99,98,123 , ,
Answer: Answer: Answer:
55) 8 134-15 "I 56) 8 1314-15 "Iy
Find Volume of
Triangular Pyramid
Answer: Answer: Answer:
58) 9471+ (-7884) 59) 17104 + 39, 60) 2/55 of 212
Answer: Answer: Answer:
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61) Round 5.57690 to 4 significant 62) 9733 - 4085 63) A number is chosen at random from
figures. 1to 75. Find the probability of
selecting multiples of 20.
Answer: Answer: Answer:
64) Anamount was decreased by 8% to 65) (-1728) + (-54) 66) Find perimeter of
$288.00. Find the original amount. a p triangle
h=1888,a=9935
c in,
b=9968in,c=
9990in
Answer: Answer: Answer:
67) Find the mode of the following set of data: 68) Find the mean of the following set of data: 69) Find the mean of the following set of data:
43, 43, 43, 43, 43, 113, 113, 67, 67, 0.5,4,13,0.3, 76, 0.3, 44 0.6, 0.4, 94, 54, 0.9, 20, 6, 0, 97
Answer: Answer: Answer:
70) 83+ 3y 71)  5344x 6273 72) Find area of
b rectangle having
sidesa=8516in
a and b=5435in
Answer: Answer: Answer:
73) Find area of 74) Find perimeter of 75) 9024 + 96
b rectangle having b rectangle having
sidesa=8516in sidesa= 9156 ft
a and b =5435in a and b = 6992 ft
Answer: Answer: Answer:
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76) 77) A number is chosen at random from 78)  Findthemean of the following set of data:
Find the next three numbersin 1 to 75. Find the probability of 0.4, 90, 67, 60
the sequence selecting factors of 16 and 20.
56,46,69,59,82,72,95 , ,
Answer: Answer: Answer:
79) 80) Find the mean of the following set of data: 81) Si mp| ify 29:90
Find the next three numbersin 64,71,0.8,19,0
the sequence
49,48,72,71,9594,118 , ,
Answer: Answer: Answer:
82) Find perimeter of 83) 25+ 37, 84)  5815-4834
triangle
b ¢ a=4088ft,b=
9951 ft,
a ¢ = 9997ft
Answer: Answer: Answer:
85) Find area of 86) Decrease 150 by Y/g 87) 11.7x 43
b rectangle having
sidesa= 6723 cm
a and b =6331 cm
Answer: Answer: Answer:
88) 44551 = 745 89) Find the range of the following set of data: 90) Find area of
3,6,14,-8,13,09,8,0.3,3,2 b rectangle having
sidesa=7921cm
a and b = 5423 cm
Answer: Answer: Answer:
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91) Find area of 92) 8459 + 6049 93) Convert the following improper
b rectangle having fraction 25%1¢ + 2919/;¢ to amixed
sidesa=7921 cm number
a and b =5423 cm
Answer: Answer: Answer:
94) 86.1x 64 95) 86.1x 64 96) 01:33 am To 09:48 am
Answer: Answer: Answer:
97) Find perimeter of 98) 1lon+ 12319 99)  Findthemodeof thefollowing set of deta
square having each 196, 196, 196, 4, 4, 4, 84, 84, 99,
s side (s) equals 7266 cm 99, 99, 99
S
Answer: Answer: Answer:

100) \

Name the type of angle.

Answer:

Total: /100
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1)23:32
8) 14

15) 15,53

22) $269.00
29) 11801515
36) 12960ft
43) -6754

50) 2033/79
57) 8417.5
64) $264.96
71) 33522912
78) 54.35

85) 42563313cm
92) 14508
99) 99

Copyright 2018 - Geek School Tutoring Limited

2)23:32
9)14

16) 66.41

23) 5938

30) 32501.346797713

37) 18256ft
44) 9092

51) 28304cm
58) 1587

65) 32

72) 46284460in
79) 117,141,140,
86) 147

93) 55%7/gq

100) Acute

3) 12949
10) 6464.9

17) 4245

24) 96

31) 32501.346797713

38) 4%/

45) 22

52) 2

59) 7977

66) 29893in
73) 46284460in
80) 30.96

87) 503.1

94) 5510.4

Answers:

4) 35968in
11) 34

18) 06 Hours 07
Mins

25) 0.62
32) Vg

39) 10681.9
46) 33.5
53) 2

60) 8

67) 34

74) 32296ft
81) 29: 90
88) 59.8
95) 5510.4

5) -860.6
12) 84538125cm

19) 10.4

26) -15836

33) 66000

40) 35

47)

54) 122,147,146,
61) 5577

68) 19.73

75) 94

82) 24036t

89) 22
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6) 194
13) 84538125cm

20) 15.4

27) 14430

34) 116/,

41) 234117

48) 146

55) 13%5/g,

62) 5648

69) 30.32

76) 85,108,98,
83) 13%45

90) 42955583cm

96) 08 Hours 15 Mins 97) 29064cm
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7) Acute
14) Yg

21)-15

28) 6265
35) 83978896M

42)

49) 16403.333333333
56) 13%%/g,

63) Y5

70) 3%

77 %

84) 981

91) 42955583cm

98) 81179
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